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CHEM STRY MARKING SCHE ME
FOREI GN 2013

SET-56/2/2

Q no. | Answers Mar ks
1 Due toitstendency toflowlike liquid 1
2 Bhylamne forns Hbond wth water but aniline, can’t for m H bond due to 1

hydr ophobi ¢ benzene ring.
3 Phenol < 4-nitrophenadl < 2 4 6-trinitrophenol 1
4 H G CO CH=( CH), or structure form 1
5 Gs notic pressure 1
6 5-chl oro-4 net hyl pent-1-ene 1
7 O fferentia adsorption

1
8 B hylene dycd +Terephthalic acid 1
9 Positive deviation
1+1

M ni mum boiling azeatrope
10 1) Buna- S < Pal ythene <nylon-6 6

2) Neoprene <. vo -~ .ylON-6 1+1
11 Auninaisleached out by using conc. NaOH solutionto sodi umal um nate and silica

as sod umsilicate.

A,Q +2NaOH+3 HO 2Na[ A(OH 4]

A unmniumhydroxide or hydrated alumnaisthen pgt. by passing CQ gas whereas

sodi umsilicate re nai ned insd uion 2

A unmniumhydroxi de is ignitedgo get pure alunina.

(or explainedinany other correct sutable manner)
OoR

11 (a)

Cup S+FeS 1

()

Depressart is used to separate sul phide ore selectivel y froma mxture of two sul phi de 1

ores.

1
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12
¥ Yo
According to Henry’s law, p=kgXcH,
s b 760 mmHg —$78 x1073
e ¢ (Vs o 5 : 1
kg 4.27 x10° mmHg
i -3 1
Mole fraction of methane in benzene; X cyy, = 1.78 x 10™". /2
13 a) k=2303 log[ A1 n
t [A
t= 2303 lo, 1
60s!
Ya
t = 00383sec
14
' HT
¢) CHO-CHOH)~CHOH ~———> CHa~€Ha)CHy 1
2 ClHO HaN=-OH CH=N-OH
(CHOH), > l
; (?HOH)L, 1
CHOH CIZH)_OH
15 a) Pepti zati on takes place. 1
b) Because of larger surface area 1
16 (i) Kraft tenperat ure: The temperat ure above which ni celle for nati on takes
place is called Kaft tenperature.
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(i)  Sorption The phenonenon in which bath adsorption and absor pti on takes

place si mitaneously. 1+1
17 1) HF <HJd <HB<H 1
(i) NH <PH< ASH<SH<HBHH 1

18 a) Hydrogen bondi ng
b) Nucleatide is sugar +nitrogenous base + phosphate group whereas Nucleoside is
sugar + nitrogenous base . 1+1

19 1) Due to dscrete tetrahedra structure and angul ar strain white phosphorus is nore

reactive whereas red phosphorus is pd yneric and therefore less reactive.

ii) Because of higher charge/size ratio of Sn**.

iii) Due toits ease of liberating nascent oxygen 1x3=3
OR

19 |()Pd; +3HO0 — HPQ+ 3HA

(i) Xk, +PFs — [eA[PRT

(iii NN . Na +3N 1x3=3

20 i) Retention of configuration
if)Inversion of configuration
iii) Race msation

1x3=3

21 1) I order
2 -k 1x3=3
3) sect
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22
0 P
Cl/ \\\CL
cL
P
(L P q
Ho 4 ey e
OH e 1x3=3
/F—
(M) \\/\C/{/ ___——F
&\
\
\
}__
23 i) Hel ping, caring and setting an exanpl e of true friendshi p
ii) Tranquilizers
iii) Because in excess it act as poison and can harmthe nervous system
1x3=3
(i) CH,-CH,~O-H + H —» CH,~CH,“O-H Yo
(i) CH,CH,— O: + CH:.—CH;EB/IE: —>CH_,CI—I2—£:}— CH,CH, + H,0 Yo
H H 1
(i) CH;;CHE—f;J— CH,CH,—> CH,CH,-O-CH,CH, + H
H 1
(h dQ/ KMQ/ Acidified kG, G
25 (a)
(i) [Q( NH)(H 9 a1,
(i) K[ N(CNy4] 1+1
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26 d=zx M
& X Na Y

27gcm® = zx27g ol * 1
(405 x 10 cm)® x 6022 x 10°° nol**

z= 27 gcm® x6022 x 107 mol™t x (405x 10 8%cm @

27 g mol !

Z~4 &
Hence the cubic unit cell isf.cc 1

27
(i) =~r NH. NaNO,tHC ~NJClT HBFRy | —~_F
= l % . @ A > \\j\

(i) NI Ha POt ROy o~

L}j — = Y
EC N N LAIMY 5 cHcH NH,
(iii) CHgCl ——> CHg 3

1x3=3
5
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28 a)

i) Because carbon of carbonyl group inethanal ismore electrophilicthan of ketone due
tothe presence of one electron donating nethyl group.

ii) Because of the absence of o= hydrogen aom

iii) Because of extensive association of hydrogen bond/ d nerisationincarboxylic acid | 1x3=3
b)

i) Add NaOH +1,, acetophenone g ves yellowppt. of CH3 whereas benzophenone does
nat for many ppt.

i) Add NaOH + I, ethanal gves yellowppt. of CH 3 whereas benzal dehyde does nat 1+1

for many ppt.
(or any a her correct sutable test)
OR
28
7k e~ - CHO
S|
on ¢ ')) ’” CIN
i HCOO K "~ CHOH
1;\/ \\‘" N N - 1" NF )
/
v) i,/" .v 1 X5:5
I~

29 (a) Kohlrausch’s law states that 1i mting nolar conductivity of an electrol yte can be
represented as the sum of the individual contributions of the anion and cation of the
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electrdyte 1
It is wsed to calcuate Am of even weak electrd yte ./ It is usedto calcuate degree of
dissoci ati on 1
(b
R=p(1/ 2) 1
Il constant I/a=R/p=Rx 1
15009 x(0. 15x10*Scm*) 1
=0, 225¢ m*
29 R
0 0 0
E ce = Ecahoe - Eanode
Yo
=034V -(-230 V Y
= 270V
0
Ecell = Bl - 0059 1og [ My® "] 1
2 [ Cu?™]

E.en =270 V- 0.059 log ( Q001 NJ
2 (00001 M

270 V- 0059 log(10)

2
=270V- 00295 V 1
=2 6705V
LY
A G =- nFEO cell i
1
=-2 x96500C mol'* x 270 V Yo
=-5211kl nolt
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30 i) Because of the absence of unpaired electroninthe for nation of netallic bond/
because of non-invol vient of d-orbital dectrons inthe for nation of netallic bond
ii) Because of lanthanoid contraction

iii) Because of inconplete filling of d-orhitals.

iv) Because of low Ayq H and high A H of QF" ion and Qu respecti vel y.

V) Because @>*has stable ty,” half filled confi guration 1x55
OR
30 |[2MiQ + 4KOH +Q —2Kk MIQ +2HO 1
MhQ? under goes disproportionation reactioninacid mediumto give MO, ion 1
3MIQ” +4H  2MIO, +MIQ R2HO0 1
i)
MQ +8H +F™ M +F +#4H0 1
i)
2MQ +16H +5GQ% —2M?" +10CQ +8H 0 1
Sh. SK Murjd

Dr (Ms) Sangeeta Bhatia

Prd. RD Shuk a M. KM Abdud Raheem
Dr. K N Uppadhya M. D A Mshra

M. Rakesh Dhawan M. Deshbir $ngh

Ms. Neeru Sof & M. Akhleshwar Mshra

M. Mrendra S ngh

Downloaded From: http://www.cbseportal.com



